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ฮฮฮ ฮฮฮฮ ฮ ฮฮฮฮฮ ฮ ฮ 21,000 ฮฮฮ ฮฮ ฮ ฮฮ ฮฮฮฮฮ ฮฮ ฮฮฮฮฮ ฮ ฮ ฮ ฮฮฮฮ ฮ ฮ ฮ ฮฮฮ ฮฮฮ ฮ ฮฮฮ ฮ ฮฮฮ ฮ ฮ ฮ ฮ . ฮ .ฮฮ ฮ ฮ 0708/ ฮ 9
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ฮ

1
ฮฮฮ” ฮ ฮ 1 = ฮ = ฮ ฮ

(2.4) ฮฮฮ ฮฮ ฮฮฮ ฮฮฮ ฮ ฮฮฮฮฮฮ ฮ ฮฮฮ ฮฮฮ ฮฮ ฮฮฮ ฮ ฮ ฮ ฮฮฮฮ ฮ ฮฮ ฮฮฮ ฮฮฮ ฮ ฮฮฮ ฮ ฮ ฮฮฮ ฮ ฮฮฮฮ ฮฮ ฮ

ฮฮฮ ฮฮ ฮฮฮ ฮฮฮ ฮ ฮ ฮ ฮ ฮ ฮฮฮฮ ฮ ฮฮฮฮฮ ฮ ฮ 15,600 ฮ ฮ ฮ ฮฮฮฮ ฮฮฮฮฮ ฮ ฮฮฮฮ ฮ ฮ ฮฮฮฮฮฮ ฮ ฮฮฮ ฮฮฮ ฮฮฮฮ ฮ ฮฮฮ ฮฮ ฮฮฮฮ ฮฮฮฮ ฮฮฮ ฮ ฮ ฮ

ฮ !ฮฮ% ฮฮฮ9 ฮ ฮ =ฮ4ฮฮ ฮ ฮฮฮ
ฮฮฮฮฮฮฮ ฮ ฮฮฮฮ ฮ ฮ ฮ 14,500 ฮฮฮ ฮฮ ฮ ฮฮฮฮ ฮฮฮ ฮฮ ฮฮฮ ฮฮฮฮ ฮ ฮฮ ฮ ฮ ฮ ฮ ฮ ฮฮฮ ฮฮฮ ฮ ฮฮฮ ฮ ฮฮฮ ฮ ฮ ฮ ฮ.ฮ . ฮฮฮ ฮ 0708/ ฮ 9

ฮ ฮฮฮฮฮฮ 12 ฮ ฮ ฮ ฮฮฮฮ 2535 ฮฮ ฮ ฮ ฮ ฮ ฮ 0708.1/ ฮ 11 ฮฮฮ ฮฮฮ ฮ 13 ฮฮฮ ฮ ฮ ฮ ฮ 2542 ฮฮ ฮ ฮ ฮฮ ฮ
ฮฮ ฮฮฮฮฮ ฮ ฮ ฮ ฮฮฮ ฮ ฮ ฮ

ฮฮ

ฮฮฮ ฮฮฮ ฮ ฮฮฮ ฮ ฮ ฮฮ ฮฮฮฮ

1
ฮฮ ฮ ฮ ฮ 1 ฮ ฮ ฮฮฮ

(2.5) ฮ ฮฮฮฮ ฮ ฮฮฮ ฮ ฮ ฮฮฮฮฮฮ ฮฮฮ ฮ ฮ ฮ ฮ ฮฮ ฮฮฮ ฮ ฮ ฮ ฮฮ ฮฮฮ ฮ ฮฮฮ ฮ ฮ ฮฮฮ ฮ ฮฮฮ ฮ ฮ
ฮฮ ฮ ฮฮ ฮฮฮ % =ฮฮ ฮฮฮ

ฮฮฮ
ฮฮฮ
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ฮฮฮ ฮฮ=' ฮฮฮ4ฮ ฮ ฮ <= ฮ ฮ

ฮฮฮ ฮ ฮฮฮ ฮ ฮ ฮ ฮฮ ฮ ฮฮ ฮ ฮ ฮ ฮ ฮ ฮ ฮ ฮฮฮฮฮฮ ฮ ฮ ฮ ฮฮฮ ฮฮฮ ฮ ฮฮฮ ฮฮฮ ฮ ฮฮฮฮฮ ฮฮ ฮ 2 ฮฮฮฮ ฮ ฮ ฮฮ ฮ ฮ ฮ ฮ ฮฮฮ
ฮ = ฮ ฮฮฮ49 ฮ 4«< ฮ ฮฮ ฮ = ฮ ฮ ฮ=ฮ 1 ฮ ฮ

ฮ ฮ ฮฮ ฮ ฮ ฮ ฮ ฮ ฮ ฮ ฮ ฮ ฮ ฮ ฮ ฮ ฮ ฮ ฮ ฮ ฮ 1 ฮฮ ฮ ฮ ฮ ฮ ฮ ฮ ฮ ฮฮฮ ฮฮฮฮ ฮ ฮฮ ฮ ฮ ฮฮ ฮ ฮ ฮ ฮ ฮฮฮฮ ฮ ฮ ฮ ฮ ฮฮฮฮ ฮฮฮ ฮฮ ฮฮฮ ฮ ฮ
ฮฮ ฮ

ฮฮฮ ฮ ฮ ฮฮฮ ฮฮฮฮฮฮ ฮฮ ฮฮฮฮฮ 1
ฮฮ ฮ ฮฮฮฮ” ฮ ฮ 1ฮฮฮฮฮฮ ฮฮฮฮ ฮ ฮ ฮ ฮฮ ฮ ฮ ฮฮฮ ฮฮ ฮ ฮฮฮ ฮ ฮ ฮ ฮฮฮฮฮฮ ฮฮฮ ฮ ฮ ฮฮฮ ฮ ฮฮฮ ฮ ฮ ฮฮฮ ฮฮ ฮฮฮ ฮ ฮ ฮ ฮฮ ฮ ฮฮ ฮ ฮ ฮ ฮ ฮ ฮ

ฮฮฮ ฮฮฮฮ ฮ ฮฮ ฮฮฮฮ ฮ ฮ ฮฮฮ ฮ ฮฮฮฮฮฮ ฮฮฮ ฮฮฮฮ ฮ ฮ ฮฮฮฮ ฮ ฮ ฮฮฮฮฮ ฮ ฮฮฮฮ ฮ ฮ ฮฮฮ ฮฮฮฮฮ ฮ ฮ ฮ . ฮ .
ฮฮฮ ฮ ฮ ฮฮ ฮฮ ฮ ฮ ฮฮฮฮ ฮ ฮฮ

=% ฮ ฮฮ ฮฮ ฮ = !ฮ ฮ ฮฮฮฮ ฮฮฮฮ ฮ ฮฮ ฮฮฮ
ฮฮฮ ฮฮ ฮ ฮฮฮ ฮ ฮฮฮฮ ฮ ฮฮ ฮ ฮ ฮ ฮ ฮ ฮ ฮฮ ฮ ฮฮ ฮฮฮฮฮฮฮฮ ฮฮฮ ฮฮฮฮฮฮ ฮ ฮฮ ฮ ฮฮ ฮ ฮ ฮฮฮฮ ฮ ฮ ฮฮฮฮ ฮ ฮ ฮ ฮฮฮ ฮ ฮฮฮฮฮ ฮฮฮฮ ฮ ฮ

ฮฮ ฮฮ ฮ ฮ ฮ ฮ ฮ ฮ ฮ ฮฮฮฮ ฮ

(ฮ ฮฮฮ ฮฮ ฮฮฮฮฮฮ ฮ ฮฮฮ)
ฮฮ ฮฮ ฮฮ ฮ ฮ ฮ ฮ .
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